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0 How many = are there?

(- (-
C 0] e [

e Compare the numbers.

(a) compare 59 and 71 (b) Compare 85 and 87
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C] is greater than D C] is greater than C]

e What is the missing sign in the box?

G (]) +
7x5=5x 2x5
(3) x

12+4 ' 4 groups

: of 3 | E 2x3 : : 4 threes |

A B c b
(1)Band D (2)BandcC
(3)AandcC (4) Aand D
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e Which of the following has a value smaller than 5?
M1a=+2 (2)20=:5

(3)24+4 (4)30+3

What is the mass of the apple?
(1) 106g
(2)160¢g
(3) 406 g

(4) 4609
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Look at the picture below. The pumpkin weighs 300 g.

0 Study the pattern below. What is the missing shape?
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e What is the amount of money shown below?

(1) $2.70 (2) $2.80
(3) $3.20 (4) $3.50
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For the answer key, go to
blog.sparkedu.com/halloween-worksheets-sg/
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